N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] %] F [%]
x F x < * B4
8 sl & 8 . g
H0°E =10 5t L. £
E o) ol Q
- =} X =
E 2 s Sie?
10°F 10° s
E 10° 3
10°F 10°
E N 10°
10%F 10270
E oo 10
10f 10f--r--aeere 1’
& Ll -
o+ INnusNOPU_base
S nusNOPUJetramO\dF\Ie51257v2 prelimWPM_epochO
(S 24 v v v T ooF- B 24
1 3% i A R
08f--i---n 09F--t--4-4-4- o8f- -+ | -5
-25-20-15-10 -5 0 5 10 15 20 25 OBEd5TiE-i6 5 6 5 10 153025 0 E=355-10 5 B 5 10 15 30 35 05 =50-15-10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 2
8 sl & S
=10 £ 8
ol o
= g
10* =
310
10° F :
10°F
10? E
10E-
F 1
=
k! o °
I I T 1
o Y1.05] o
£- 0.9
Zio 0 10 20 30 °¥p 20 -10 0 10 20 30 095535 —10 5 10 20 30 520 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


